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iE R SHOEE HHEGREE EED
& [z HE - BRTE BT £ i £ B

BRI 11,892,980 + 182,296 12,075, 276
22,205,815 + 343,413 22,549, 228 10, 473, 952

EEAGE 11, 892, 980
22, 205, 815 10, 312, 835

EERE 182, 296
343,413 161,117

Z Ot 11,892,980 x 53.85% ( 35% = (1 — 35%) ) 6, 404, 369
22,205,815 x 53.85% ( 35% =~ (1 — 35%) ) 11,957, 831 5, 553, 462

BRI 12,075,276 + 6,404, 369 18, 479, 645
22,549,228 + 11,957, 831 34,507, 059 16,027, 414

—REREE 18,479,645 x 53.85% ( 35% = (1 — 35%) ) — 933 9, 950, 355
34,507,059 x 53.85% ( 35% = (1 — 35%) ) — 9,110 18,572, 941 8, 622, 586

RHmE 18,479, 645 + 9,950, 355 28, 430, 000
34,507,059 + 18,572, 941 53, 080, 000 24, 650, 000

HEBRFHESE 28,430,000 x 10.00% 2, 843, 000
53,080,000 x 10.00% 5, 308, 000 2, 465, 000

EBEREN 28,430,000 + 2,843,000 31, 273, 000
53,080,000 + 5,308,000 58, 388, 000 27,115, 000
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BEAREK

£ ki3 g - RS B 2 i & &8
ERIR 12,075, 276
22,549,228 10, 473, 952
MHBmFAE 12,075, 276
22,549,228 10, 473, 952
MEBEmFE 12,075, 276
22,549,228 10, 473, 952
EMEEERE 11, 892, 980
22,205, 815 10, 312, 835
Bt
265, 860
1 EHEER
= 1.00 265, 860 265, 860
i - |E
208, 400
2 % - wE
B 2.00 104, 200 208, 400
BEMERE 11, 238, 620
21,551, 455 10, 312, 835
3 FARE-1 15.00 47,200 708, 000
E 13.50 47,200 637, 200 -70, 800
4 BRRE—2 (B%) HEI~10LTF 85.00 4,192 356, 320
mB 37.00 4,192 155, 104 =201, 216
5 HAIRE—2 (B#) BIEIT~20LTF
mBE 1.00 5,904 5,904
6 HARE—2 (BH) Rig21LLE 1.00 7,528 7,528
mBE 0.00 7,528 0 -7,528
TRAFEE—2 H#BE1) HEI~10LTF 11.00 7,144 78,584
mBE 88. 00 7,144 628, 672 550, 088
8 BHAIRE—2 #BE1) HEI1~20LLTF 1.00 10, 096 10, 096
mBE 0.00 10, 096 0 -10, 096
I HEIRE—2 #HZE1) g2 E 1.00 13,432 13,432
mE 0.00 13,432 0 -13,432
10 HAIFAE—2 (#HE2) HEI~10LUT 126. 00 9,240 1,164, 240
mBE 152.00 9,240 1,404, 480 240, 240
11 H¥RAE—2 #HE2) HEI1~20LLTF 1.00 13,432 13,432
mBE 0.00 13,432 0 -13,432
12 BRAE—2 (BHE2) B2 E 1.00 17,624 17, 624
mBE 0.00 17,624 0 -17,624
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£ b3 g - RS B ® B i 8 wE
13 %5 - o4 (12%) BRI~10LUT 115. 00 3, 808 437,920
&8 64. 00 3,808 243,712 -194, 208
14 &t - 58 (%) RBIT~20LLF
mBE 1.00 5,048 5,048
15 &&t - o4 (%) B2 E 1.00 6,288 6, 288
mBE 0.00 6, 288 0 -6, 288
16 &t - o8 BEHE1) HEI~10LT 11.00 5,904 64, 944
&8 88.00 5,904 519, 552 454, 608
17 %5t - o8 BEHE1) HEIT~20LLTF 1.00 7,528 7,528
mB 0.00 7,528 0 -7,528
18 &t - 9F (BZE1) BRI E 1.00 9,624 9,624
mE 0.00 9,624 0 -9, 624
19 %5t - 9o #HE2) BRI~10LT 126. 00 7,528 948, 528
&8 152.00 7,528 1,144, 256 195,728
20 &5t - o (BBE2) HEI1~20LTF 1.00 10, 096 10, 096
mBE 0.00 10, 096 0 -10, 096
21 &5t - o (BBE2) B2 E 1.00 12,576 12,576
mBE 0.00 12,576 0 -12,576
2 BE 258.00 2,151 554, 958
mBE 305. 00 2,151 656, 055 101, 097
23 MIHEMRAE #SE1) 18.00 46, 648 839, 664
T B 16.00 46, 648 746, 368 -93, 296
24 MIHBMRAE #AE2) 1.00 62,988 62, 988
T B 2.00 62,988 125, 976 62,988
2% BISHRAE @#ZE1) 82.00 70, 868 5,811,176
I HHE 213.00 70, 868 15,094, 884 9,283,708
26 MISHAE HEE2) 1.00 92,122 92,122
T 2.00 92,122 184, 244 92,122
MEBIER
180, 100
21 MEEERK
= 1.00 180, 100 180, 100
EEEE 182, 296
343,413 161,117
EERARE 111,296
213,413 102, 117
28 BHERARE 1.00 111, 296 111,296
Es 1.00 213,413 213,413 102,117
EBERERE 71,000
130, 000 59, 000
29 XBRERE 1.00 71, 000 71,000
= 1.00 130, 000 130, 000 59, 000
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=:3
B FRIERE -1 HEED
% b3 Hg - BIKTE =R iv] = fii ® B H =
HER (B)
A 1.00 47, 200. 00 47,200
& B YEZ8ERN : 1.00ME 47, 200. 00 47, 200
5:4
2% BAFEE—2 (B%) HREI~10LTF 100E %Y
% b g - BIKTE =-Fiv] = fili & i %=
HEm (B)
A 4.00 47, 200. 00 188, 800
HEm (C)
A 6.00 38, 400. 00 230, 400
& B 1E%8EH : 100. 008 B 4,192.00 419, 200
5:6
2% HRlAE—2 (E#) J\/E210E 100E %Y
% b3 g - BIKTE =R =y i & H " =
HEm (B)
A 7.00 47, 200. 00 330, 400
HEm (C)
A 11.00 38, 400. 00 422,400
& B 1E%8EA - 100. 008 B 7,528.00 752, 800
=:7
2% HRlRAE—2 (BHE1) BEI~10UT 100@E %Y
% fz g - BIKTE =R iv] = i ® E H =
HER (B)
A 7.00 47, 200. 00 330, 400
HEm (C)
A 10. 00 38, 400. 00 384, 000
& & E%REH - 100.00% B8 7. 144.00 714, 400
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5:8
&% HFRIERAE—2 (HBE1) HEI1~20LUTF 100mBHY
2] [ Hg - BIKTE By B = i ] H =
HER (B)
A 10. 00 47, 200. 00 472,000
HEh (C)
A 14.00 38, 400. 00 537, 600
& it 1E%8EH : 100. 00 B 10, 096. 00 1,009, 600
5:9
2% HRlRAE—2 (BHE1) HB21LE 100mBHY
2] [ g - BIKTE By ¥ E i ] H =
BEm (B)
A 13.00 47,200. 00 613, 600
HER (C)
A 19.00 38, 400. 00 729, 600
& i E%8EH : 100. 00 B 13,432.00 1,343, 200
5:10
2% HRlRAE—2 (BHE2) BEI~I0UT 100mB&EY
£ [z Hg - BIKTE By ¥ E i F) i =
HEm (B)
A 9.00 47, 200. 00 424, 800
HER (C)
A 13.00 38, 400. 00 499, 200
& it 1E%8EH : 100. 008 B 9, 240. 00 924, 000
5 11
&% HFRIEAE—2 (H5E2) HEI1~20LUTF 100mBHY
£ [z B - K& By B E i B " =
HER (B)
A 13.00 47, 200. 00 613, 600
HEh (C)
A 19.00 38, 400. 00 729, 600
& B 1E%8EH : 100. 008 B 13,432.00 1,343, 200
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ES 12
A FRRE—2 (#FE2) HRE210tL 100mB LY
2] [ Hg - BIKTE By H 2 {ii & ) " &
HEm (B)
A 17.00 47, 200. 00 802, 400
HEh (C)
A 25. 00 38, 400. 00 960, 000
& & YEZEE - 100. 008 B 17, 624. 00 1,762, 400
=:13
%5 K5 - o E#E)  HREI~10LTF 100mBHY
2] [ R - BIRTiE By H 2 {i & ) " &
HEm (B)
A 4.00 47, 200. 00 188, 800
HER (C)
A 5.00 38, 400. 00 192, 000
& & YE28E7 - 100. 008 B 3, 808. 00 380, 800
5:15
B K5 - o (B%E)  HE21tE 100mB LY
£ [z R - BIKTiE By H 2 {i & ) 5 &
HEm (B)
A 6.00 47, 200. 00 283, 200
HER (C)
A 9.00 38, 400. 00 345, 600
& &t YE28EH - 100. 008 B 6, 288. 00 628, 800
5:16
BF  HE - S (BBET) BRI~ 10UT 1005 H =4
£ [z B - K& By H 2 i & ) 5 &
HEm (B)
A 6.00 47, 200. 00 283, 200
HEh (C)
A 8.00 38, 400. 00 307, 200
& & YE2EEH - 100. 008 B 5,904. 00 590, 400
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BF A SH (MBET)  ETT~20LTF 1005 H =4
% ] it - Fotketik B % E f £ @ =
HEm (B)
A 1.00 47, 200. 00 330, 400
&E (C)
A 11.00 38, 400. 00 422, 400
A &t YEZEEH - 100. 008 B 1,528.00 152, 800
5 :18
B EE - O (BBE1)  RE2LE 1082 Y
% ] ]t - ARtk B % E f & @ =
HEm (B)
A 9.00 47, 200. 00 424, 800
#E (C)
A 14.00 38, 400. 00 537, 600
a &t YEZ8EH - 100. 004 B 9, 624. 00 962, 400
5 :19
£7 ;A - DT (MBE2)  BREI~10UT 1002 EHHY
% #h it - Fotkstik B % E f £ @ =
HEm (B)
A 1.00 417, 200. 00 330, 400
&E (C)
A 11.00 38, 400. 00 422, 400
A &t YEZ8EH - 100. 008 B 1,528.00 152, 800
5:20
B A SH (MBE2)  BRETT~20LTF 1002 E%Y
% h itk - MRk B % E fi & @ =
HEh (B)
A 10.00 47, 200. 00 472,000
&E (C)
A 14.00 38, 400. 00 537, 600
A &t YEZEEH - 100. 008 B 10, 096. 00 1,009, 600
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5 21
&% K5t - o (BHE2) HBE21LE 100mBHY
2] [ Hg - BIKTE B B = i 4 ] H =
e (B)
A 12.00 47, 200. 00 566, 400
HEh (C)
A 18.00 38, 400. 00 691, 200
& it 1E%8EH : 100. 00 B 12,576.00 1,257, 600
ES 22
& BE 100mBHY
2] [ g - BIKTE B ¥ E i od ] H =
EXE T 1CH))
A 2.00 64, 800. 00 129, 600
HER (A)
A 1.50 57,000. 00 85, 500
& i E%8EH : 100. 00 B 2,151.00 215,100
&S .23
&% ETHEMAE @HE1) 1HETHEML Y
£ [z Hg - BIKTE B ¥ E i & F) i =
F R (B&ED
A 0.08 64, 800. 00 5,184
HER (A)
A 0.12 57,000. 00 6, 840
BEm (B)
A 0.40 47, 200. 00 18, 880
HER (C)
A 0.41 38, 400. 00 15, 744
& it YE%8EH - 1. 00k T B (M 46, 648. 00 46, 648
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BES:24
&% BIEMAET $5E2) 1T HEMY Y
2] [ Hg - BIKTE B £ i H =
EXEE:TTAEH))
A 0.09 64, 800. 00 5,832
HEm (A)
A 0.14 57,000. 00 7,980
HEm (B)
A 0.57 47, 200. 00 26, 904
HER (C)
A 0.58 38, 400. 00 22,272
& it YE%8EH - 1. 00k T B {f 62, 988.00 62, 988
ES:25
2% EISHAE @5E1) 1EIHHLY
£ [z g - BIKTE B £ i H =
EXEE:TTAEH))
A 0.12 64, 800. 00 1,716
HER (A)
A 0.18 57,000. 00 10, 260
HER (B)
A 0.68 47, 200. 00 32,096
HEm (C)
A 0.54 38, 400. 00 20, 736
& it YE%8EH 1. 00fE T4 70, 868. 00 70, 868
&S : 26
&% BRISHAE H5E2) 1HEIHHLY
£ [z Hg - BIKTE B £ i H =
EXEE:TTAEH))
A 0.13 64, 800. 00 8,424
HER (A)
A 0.21 57,000. 00 11,970
HER (B)
A 0.82 47, 200. 00 38, 704
HEh (C)
A 0.86 38, 400. 00 33,024
& it YE%8EH 1. 00fE T4 92,122.00 92,122
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E=:28
&% EHBRARE 1KLY
2] [ Hg - BIKTE =R iv] = B i ® B H =
EXARE
=® 1.00 213, 413. 00 213,413
& it EZErERN - 1.00 213, 413.00 213,413
E=S:29
2% XBERERE 1KLY
£ [z g - BIKTE =-Fiv] = B i & i %=
XBHRERE
=® 1.00 130, 000. 00 130, 000
& it EZrEAN - 1.00 130, 000. 00 130, 000




